
500

40

Item 2
PS-02152

40

Item 3

Item 1
(PS-02231)

Item 2
PS-05152

Item 1
(PS-02231)

Item 3

Item 2
PS-02152

Item 2
PS-05152

2x Washers
M8 DIN125 A2

Self-locking nut M8 DIN 985 A2
Countersunk screw  M8x70 ISO 10642 A2
Washer M8 DIN125 A2

Escutcheon

Hexagon nuts with flange
M8 DIN 6923 A4

Hexagon flange bolt
M8x35 DIN 6921 A4

Self-locking nut
M8 DIN 985 A2

Hexagon screw M8x20
DIN 933 A2

Length = 1.500, 1.980, 3.000 mm

Max. projection = 600

400 - 600

variable

Item 3
Item 1
(PS-02231)

Item 2
PS-02152

BEMO SYSTEMS GmbH T: +49(0)7904 29899-60
Max-Eyth-Straße 2 F: +49(0)7904 29899-61
D-74532 Ilshofen-Eckartshausen E: sales@bemo.com
Germany W: www.bemo.com

Aluminium

3 mm

510 mm

Aluminium

5 mm

115 mm

101106101111

Longitudinal section:

Cross section: Exploded view:

PS-02070_EN-REV02

This drawing is the exclusive property of BEMO SYSTEMS GmbH.
It may not be reproduced or made available to third parties without our prior consent. We
reserve all rights, even in the case of the granting of a patent or the granting of a utility model.

Designation:

Type: Data sheet number:

Product information:

Part number

Materials

Material thickness

Produktion length

Item

Example for roof pitch of 10° Roof
pitch of 1.5 to 30° is possible

Width of standing seam webs 400 - 600 mm

Walkway parallel to the eaves

BEMO-WALK PT

Item 1: Mounting angle (PS-02231) Item 2: Retaining brackets for walkway L115  PS-02152

101137

Aluminium

3 mm

210 mm

Item 3: Connecting tab



Max. span = 1.200

Length = 1.500, 1.980, 3.000 mm

Max. projection = 600

400 - 600

variable

Connecting tab

Screw DIN 933 M8x20 A2

Nut DIN 985 M8 A2

2x washers M8 DIN125 A2

Washer M8 DIN125 A2

Mounting angle (PS-02231)
Retaining brackets for walkway
PS-02152

Nut DIN 985 M8 A2

Screw ISO 10642 M8x70 A2

Escutcheon
Hex nut for snow guard
A4 DIN 6923 M8

Hex screw for snow guard
A4 DIN 6921 M8x35

500

40

Item 2
PS-02152

Screw ISO 10642 M8x70 A2
Washer M8 DIN125 A2

Nut DIN 985 M8 A2
Escutcheon

40

Nut DIN 985 M8 A2
Screw DIN 933 M8x20 A2

Connecting tab
2x washers M8 DIN125 A2

Item 3

355Item 1
(PS-02231)

Item 2
PS-05152

Hex screw for snow guard A4 DIN 6921 M8x35
Hex nut for snow guard A4 DIN 6923 M8

BEMO SYSTEMS GmbH T: +49(0)7904 29899-60
Max-Eyth-Straße 2 F: +49(0)7904 29899-61
D-74532 Ilshofen-Eckartshausen E: sales@bemo.com
Germany W: www.bemo.com

Longitudinal section:

Cross section:

Item 1: Mounting angle (PS-02231)

Aluminium

3 mm

510 mm

Item 2: Retaining brackets for walkway L115  PS-02152

Aluminium

5 mm

115 mm

101106101111 101137

Aluminium

3 mm

210 mm

Item 3: Connecting tab

PS-02071_EN-REV02

Example for roof pitch of 10° Roof
pitch of 1.5 to 30° is possible

Width of standing seam webs 400 - 600 mm

Walkway parallel to the eaves

BEMO-WALK PT
This drawing is the exclusive property of BEMO SYSTEMS GmbH.
It may not be reproduced or made available to third parties without our prior consent. We
reserve all rights, even in the case of the granting of a patent or the granting of a utility model.

Designation:

Type: Data sheet number:

Product information:

Part number

Materials

Material thickness

Produktion length

Item


